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Worksheet 3.1: Systems of Linear Summer 2016

SEW Math 090 Equations by Graphing

Solve the systems of equations by graphing. Indicate whether each system has a unique solution,
no solution, or an infinite number of solutions.
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SEW Math 090 Worksheet 3.2: Systems of Linear Summer 2016
Equations -

Solve the systems of equations by substitution or addition. Give the unique solution, or indicate

whether the system is inconsistant, or is dependent.
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Worksheet 3.3: Applications of
S Mahoen Linear Equations

Summer 2016

1. A school is putting on a production of Chicago. There were 186 tickets sold for a particular
night, some for $16 (nonstudent price) and others for $12 (student price). If the receipts
totaled $2640, how many of each type of ticket were sold?

(—'f){ NS+S . 18¢ —-IENS - 165 =-29%¢
NS + 25 = 2840 = KNS 1125 - 26‘40§

—45 = _3%
S= "_35 =84 l

NS= |86 -84 - ‘o

2. John and Ariana bought school supplies. John spent $10.65 on 4 notebooks and 5 pens.
Ariana spent $7.50 on 3 notebooks and 3 pens. What is the cost of 1 notebook and what is
the cost of 1 pen?
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3. How much fertilizer containing 8% nitrogen should be mixed with a fertilizer containing
12% nitrogen to get 8 L of a fertilizer containing 11% nitrogen?
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4. How much 30% acid solution should be added to a 10% acid solution to make 100 mL of a
12% acid solution?

-2 ¢ S+ A= loo -5 _2A = -3
= 25, ko 1 =5 5 i s
BSeEA R P25 lp . 2
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— . % ml (am'bof loy Sokben needed

1o

Sz 100-90 = lo ml {amt of 30/ Solhon needed

5. It takes a motor boat 2 hr to travel 16 mi downstream with the current and 4 hr to return

against the current. Find the speed of the boat in still water and the speed of the current.
distence = rate Xtme —» d=tt
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6. A plane flies rom Atlanta to Los Angeles against the wind in § hr. The return trip back to
Atlanta with the wind takes only 4 hr. If the distance between Atlanta and Los Angeles is
3200 km, find the speed of the plane in still air and the speed of the wind.

J.-:: rt

ogaingt wind: 3o = (A-w) x5 — fa_w =64o
wih wind,

3200=(a,+w)xq - [a+ W = Boo t
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